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OPTION - A

Paper : CSC-HG-3016 (f/ Truncation division operator in Python
(Programming in Python) is (Fill in the blank)

1. Answer the following questions as directed : 3
(any seven) : 1x7=7 (99 Which of the following is a Python

: 5
(@) The process of finding and resolving tuple :

errors in a computer program is called i {7, 8, 9}
(Fill in the blank)

@ [7,8, 9]
(b) An algorithm represented in the form :
of programming languages is 5 @) (7,8, 9)
(i) Flowchart , . R (iv) None of the above
() Decision Table |
(i) Program (h) function is used to determine

(iv) ‘None ‘of the &bove number of items in a list.
(Choose the correct option) ; (Fill in the blank)

(c) Python is a case-sensitive language. : (i)
(State True or False)

(d) Extension of Python file is :
(Fill in the blank) - ) o i1s a prototype from which

(¢) Which of the following is used to define { objects are created. (Fill in the blank)
a block of code in Python language ? : 3

(i) Brackets @

(i) Indentation *
(iii) Start .... stop 1
(iv) None of the above () Python is an interpreted programming
(Choose the correct option) language. (State True or False)

Strings are arrays of bytes representing
Unicode characters. (State True or False)

(k) Arithmetic operator has higher priority _
than relational operator. .
(State True or False)
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(@)

(b)

2. Define any four of the following terms:
2x4=8
(a) Documentation
(b) Flowchart
(¢) Bottom-up programming
(d) Keyword
(e) Python shell
(f) Exception
(g) Recursive function
(h) Object
3. Answer any three of the_ following :
5x3=15

What are different types of errors in

programming ? Explain.

Differentiate among break, continue

and pass.
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()

()

(e)

(9)

(h)

Write a function that takes an integer
input and calculate the factorial of that
number.

Give brief description of any five list
functions.

Give brief description of any five string
functions.

What are the differences between string
and list?

What are nested list in Python ? Give

example.

Give brief introduction to class and
object.

4. Answer any three of the following :

(@)

(b)

10x3=30

Write a program to generate Fibonacci
series.

Write a program to print factors of a
given number.
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(c) Write output of the following (f) Write short notes on the following :
statements :

i) i=1

while True

(ij Python Atoms

(ii) Bitwise operator

(g9 Write a brief description of default

if %3 ==0: argument and standard libraries.
break k
: (h) Write a program to create queue class
Print (i) ‘ and implement all the methods.
i+=i '
(ii) 2+ (34+2) ,

(iii) x = ‘abcd’
for iin x:
print (i‘upper ()) .
(iv) print (“university” [2:4])
(v) print (“abc” * 5)

(d) Write a program to create stack class
and implement all the methods.

(e) Write a program to implement linear
and binary search on lists.
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7 OPTION-B
Paper : CSC-HG-3026

( Computer Network and Internet Technologies )

Answer either in English or in Assamese.

1. Answer the following as directed : (any seven)

1 x7=7

weTe faiaiRa o SR Tee i 2
(Riewizat sAreby)

(@)

(b)

(@)

Give an example of MAN.

MAN = @ft Twizas |

Write the full form of www.

www q 79 *=Co! fera |

Which tag is used for hyperlink in
HTML ?

Hyperlink 40& HTML © (90! 99219 28 ¢

Bluetooth is not a guided media.
(State True or False)

Bluetooth @& guided media «%3 |
(8% @ o CEe +91)
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)

(h)

(i)

0

Give an example of web browser.

Web brdwser 3 @it Twize faan

Write an advantage of bus topology.

Bus topology 3 |t Twizas faa |

What do you mean by the term
‘E-Commerce’ ?

E-Commerce Wl ©fi & 391 2

There is no difference between Internet
and Intranet. (State True or False)
Internet ®I1% Intranet ¥ N&® (I ALF
By (8% @ q2% @)

Optical fiber is a guided media.
(State True or False)

Optical fiber 24 guided ¥ |
(9% 7 9% f731)

Full form of URL is ANE
(Fill in the blank)

URLJ o Fot 21 ____|
(T1 2 %79 F91)
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(k)

U

In HTML, tag is used to insert
an image. (Fill in the blank)
HTML © @37 g S99e e tag
IR 4 A | (31T 312 979 F91)

In JavaScript, string objects are
mutable. (State True or False)

JavaScript © string object (d¥ mutable
| : (%% @ &% [@73)

2. Define the following terms : (any four)

2x4=8

wee AR el Wl ¢ (Ricreanr sifabr)

(a)
(b)
(c)
(d)
(e)
U]
(9)

(h)

ISP

NIC
Extranet
FTP
WAN

Gateway
VOIP

CSS
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3. Answer any three of the following questions :
| 5x3=15
fRicarea fofabra T fra ¢

a) What do you mean by methods and
events in JavaScript ? Give examples.
1+2+2=5

JavaScript ¥ methods ®l% events It
5 2 Trzae |

(b) Explain how to insert list on a web page
with the help of an example.

THIZA9T AYTS web page «bre R list
FATAG B 2] I 349

(c) Discuss the uses of bridge and router.

Bridge @& router 3 429 RI@ wicsioat
40|

(d) Define the terms :
sigwal fudtt 2
Home page, Blogs, Upload, Search

Engine, Video-conferencing
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(e)

(9)

Write a JavaScript program to find the
factorial of a number.

«fb AU factorial TfEIRTa GO J avéScript
program feral|

Give brief description of components of
data communication.

©2J communication 3 SI*ERE 53 3¢ faat |

Com-pare star topology with bus
topology.

Star topology ¥ #197® bus topology < P&l
90 |

(h) Describe the functions of web server.

&R TSI IR 3¢l

Answer any three of the following:

10x3=30

o frere o Tes fia ¢

(a) List the merits and demerits of different

transmission media.

ffen AR Mg ARy == sjfRunmg g
|
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(b)

(c)

(d)

(e)

17}

Discuss different topologies used in LAN.

LAN® 3Jze fafeq topology 7z a@
ST <1 | :

Write a JavaScript program to find the

maximum of three numbers.

oD 12 fowae wibRers viearn! Thmte
@b JavaScript program &

Write the HTML code for creating the

following table :

el (5AeTAN G HTML (e fapa ¢

Prime Minister

India UK

Narendra Modi . Rishi Sunak

Discuss about different network devices.

faf$q network device 3 R WCEAG 341 |

Explain OSI reference model.

OSI reference model ¥ REE 3 F41 |
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(g) Briefly explain the functions of FTP, ;
Search Engines, Telnet, HUB and VOIP. : OPTION-C

FTP, Search Engines, Telnet, HUB % COMPUTER APPLICATION

VOIP 3 &0 591 i1 341 | ,
Paper : CSC-HG-3036/ CSC-jRC—3016/TCA-RC—3016 /TCA—HG—3016

(h) Create a simple form in HTML with Input

Type, Select and Text Area. (Operating Systems)

HTML © @3« H499 form W"ﬂ’@' 40 Answer either in English or in Assamese.
Type, Select W% Text Area S| B 1. Answer any seven the following questions
' as directed : 1x7=7
e Al eMERA Rt Arehq MU Tl
forat 8 ]

(a) Operating system is an application
software. (State True or False)

Operating system 901 application
software (%% (1 999 fa=in)

() ———is the system call to create a

new process in POSIX.
(Fill in the blank)

POSIX® #gd o C(oIR IRIAA
system call I |
(T 12 239 F90)
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(c)

()

(e)

Time sharing operating system allows
the user to perform more than one task
at a time, each task getting the same
amount of time to execute.

(State True or False)

Time sharing operating system(d

T3 e Gifas N afke e
o Ao T 7o Ffaate FAuoAfRsieoq T
AT | (5% (7 58% &)

Each process has its own address
space. (State True or False)

Ared 2B Wil address space A |
(%% @& 9% f13)

All the threads in a process share a
common address space.
(State True or False)

@b &= 7Rl thread @ FE&=W address
space JIZ{ A | (9% (o o5% &)

First Come First Serve scheduling is
primarily used for interactive systems.
(State True or False)

Interactive system © HIHEIT® First Come
First Serve scheduling J<%® 2 |
(%% 7 555 fa30)
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()

(n

()

G

Sometimes segmentation and paging
are combined to provide a two-
dimensional virtual memory.

(State True or False)

(@[S segmentation S% paging QTG
4 two-dimensional virtual memory &%is
9 = | (%% 7 5=% [@730)

Degree of multi-programming is less in
fixed partitioning system.
(State True or False)

- Fixed partitioning system$ multi-

programming 9 V@ $5 27 |
(5% @ qu% f@30)

is a lightweight process.
(Fill in the blank)

% &bl lightweight prdcessl
(T 312 279 391)

is a popular method of virtual
memory management. (Fill in the blank)

— % virtual memory managements

G5! TR effe | (AT 2 779 F91)

3 (Sem-3/CBCS) CSC/TCA/TIT (HG/RC)/G 17 e Contd.



(k) is a non-preemptive scheduling
algorithm. (Fill in the blank)

«B! non-preemptive scheduling
algorithm. (T 912 939 F91)

(1) command is used to change the

access permissions and the special
mode flags of file.  (Fill in the blank)

S 929 F(4 FIZER access
permissions W% the special mode flag

@R T FRQ AR (e A o[ )

Define any four of the following terms:
2x4=8

firerar sifabr “wa Few! fora ¢
(a) Resource abstraction
(b) Multiprogramming

(c) Real time system

(d) Process

(e) Process modes

() Thread
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(g) System call

(h) Paging

Answer any three of the following
questions : 5x3=15

firizan fofabr e%iq Teq foel ¢

(a) What are different types of operating
system ? Give brief introduction of each.

fafen eea st hgarr & ¢ aroaE
oy =t o |

(b) What are the basic functions of an
operating system ?

GAIEN: BrEwR e @R & ¢

(c) Give brief description of any two system
calls.

fRicpIcy 7bY system call 3 53 @@ faa |

(d) What is shell ? Write the syntax of loops
used in shell script. '

Shell & ? Shell script © I327 @Al loop
@R syntax ferdi|
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(e)

(9)

(h)

What is virtual memory ? What are the

advantages of virtual memory ?

Virtual memory f& ? 21 A= &/ 2

Write a shell script to display the

multiplication table of any number.

REIE TR ARl e R Bl
shell script fei|

Write a shell script to find LCD (least

common divisor) of two numbers.

B! 224 71, 7. @, feriate 6! shell script
fevat |

Write a shell script to check whether

the number is Armstrong or not.

@B A2 Armistrong TR T (7 T AKH
FRate @bl shell script o
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Answer any three of the following

questions : 10x3=30
feerean fofabr e Tea forai s
(a) Define process and thread. What are

(b)

()

the advantages of implementing threads
in- user space? What are the
disadvantages ?

Process W% thread ¥ 7t@l f&idl| User
space © thread JFARE IR FRAE@R &
& ¢ oifraiae e & 2

Briefly explain any two non-preemptive
scheduling algorithm.

Rizeizel %5! non-preemptive scheduling
algorithm I 47 |

Write a shell script to accept a login
name. If not a valid login name display
message “Invalid login name”.

Login name %% 3{&d(s1 96i shell script

fa14l | Login name (34 7%(#, “Invalid login
name” S| e 341 |
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(d) Write a shell script to merge the (h) Write short notes on:
contents of three files and sort the 3 '

contents and then display them page i (B fore ¢

by page. : . (i) Grep

fofibl wizem w2y Aeaem R Bl shell (i) Pipes and Filters
script %wmﬁmmﬁm ‘d‘h&'ﬁ“ﬁ

41

(e) Briefly explain memory allocation
strategies.

Memory allocation (FECAE 53 1= 341 |
(f/ Explain the difference between internal

fragmentation and external fragmentation.
Which one occurs in paging systems ?

Internal fragmentation ¥ external
fragmentation AHRE 3 1 | Paging
system © (0 27 ?

(g9 Explain usage of the following
commands :

weTe ST IR adq = ¢

Is, pwd, tty, cat, who, who am I, rm,
mkdir, rmdir, touch

3 Sen-3/COCH CSC/TCATT EGROJG . 22 3 en-3/CBCS) CSC/ICATT [HORO/G 23 Contd.




1.

OPTION-D

COMPUTER SCIENCE/
INFORMATION TECHNOLOGY

Paper : CSC-HG-3046/TIT-RC-3016

(ICT Hardware)

Answer either in English or in Assamese.

Answer any seven of the following questions
as directed : 1x7=7

ferai 3

(a) Full form of SRAM is — ___.
(Fill in the blank)

SRAM I of Tl go |
(1T 12 239 1)

(bp) Maximum effective operating distance
for wireless keyboard /mouse is 9 meter.
(State True or False)

w2 keyboard/mouse I FE1 i1
e 25 9 meter |

(9% (7 o5 f3)
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g

(d)

(e)

Performance of Laser Printer is
measured in

(i) dots per inch
(ii) -pages pér minutes
(iij) cost per page
(iv) None ‘of the above

(Choose the correct optiqn)
@R oo T TAMY 2
() Dot &S ¥fes
(i) coe effs e
(i) @S (ofE 49
(iv) €618 T
Maximum amount of RAM for a 32-bit
processor is — . (Fill in the blank)
32 5 2D A F A sifss RAM
G (2T} 312 279 F9)
For intefnal'drive file system, NTFS is
faster than exFAT. (State True or False)

SRl wige Hhoa A exFAT ©LF NTFS
G | (o% (7 58% F73)
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(9)

(h)

()

Master Boot Record. (MBR) can use up
to 2TB of storage space.

(State True or False)

Master Boot Record (MBR) « 3&if&=s 2TB
R 9T IR A (97 @ TuT H)

Solid State Drive (SSD) should be
defragmented regularly.

(State True or False)
Solid State Drive (SSD) @7 Fafiweia
defrag @33 @Mt | (%% & 9% f&73))

Full form of PCI is .
' (Fill in the blank)
|

(7] 312 o479 1)

PCI 3 59 &% 2'a

Full form of BIOS is

(Fill in the blank)
| :
(T 212 2979 3
Number of pins in RJ45 jack is __ i
(Fill in the blank)
RJ45 © f3iffq 72y 25 1 :
(71 1% 93 F0)

BIOS 9 9 &% Z'a
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(k)

()

BIOS is a hardware.
(State True or False)

BIOS bl FGARA | (a% & q9F &)

Switch is intelligent than hub.

(State True or False)

.b s Switch @fb JfEaw|
o . (9% (7 quF &390

Define the following : (any four) 2x4=8
el foreil ¢ (e Bifab1)

(@)
(b)
()
(d)

(e)

1]
(9)
(h)

Scanner

FAT

Disk Cleanup
Optical Media
USB

Virtual Memory
Patch Cord

[/O Box
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3.

Answer any three of the following
questions : 5x3=15

R fofant ormq Tes forar

(a) Write in brief about evolution of

(b)

(c)

(d)

(e)

computer system.

TR RS F~ol 53t 3 <4 |

Write any five differences between FAT
and NTFS. :

%;FWNTFS 3 IS RigFcan 1567 siey
|

What are the differences between MBR
and GUID Partition Table (GPT)
partitioning scheme ?

MBR 9% GUID Partition Table (GPT)3

Ers LAt & @& o

Why is optical media becoming
obsolete ?

Optical M &7 wblre (g 2
Give an overview of 13th Gen Intel Core
Processor.

T%;?Tth Gen Intel Core Processor ¥ 53 Sife
Al :

3 (Sem-3/CBCS) CSC/TCA/TIT (HG/RC)/G 28

(g)

w

Write down the steps for installing
additional HDD in a computer system.

<51 Ff{ehi Boghwe weRe HDD ikt
T SR i

What are different kinds of RAM ?
RAM T fifen daRm@e & & ¢

What are different ways of hooking a
PC onto the network ?

G (F@63'Fe PC @bt (&FHS At [ A7
o

Answer any three of the following

‘questions :

10x3=30

Ooq RIS faree fefatt 2T Tes fordll

(@)

(b)

Explain about classification of
computers.

FATHRA (HTIR©Is = 5 |

Explain logical structure of Hard Disk
Drive. Discuss new trends in storage
media. 6+4=10
Hard Disk Drive 3 =&t s/oa 31l 41 |
FTHFY YA 9 AIVOIIT DA 4 |
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(c)

(d)

(e)

Explain any four transmission medium
used in computer networks.

BT ~ifRaze g s

What is BIOS? What are the tasks
performed by BIOS ? What is SMPS ?
Describe the working of SMPS.

1+4+1+4=10
BIOS f& ? BIOS ¢ 311 3I¥@E & & 2 SMPS
& 2 SMPS @ (IS P F(F ?

Prepare a list of components to
assemble a PC. Write the steps of
assembling process. :

451 FMTHR Gfae sf<ta A
A Oifernl AES ) | GHA© THT FAEIE
feralt |

Write short notes on: (any two)
SO ferat ¢ (Rizereat w619)

(i) Disk Defragmenter

(ii) Virus Scanner

(iii) Motherboard

(iv) Network Interface Card
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(g) What is IP address? How to protect

(h)

and hide IP address?

IP address & ? IP address (TS FA(FS
o (slieTE B AR 2

Write short notes on:
5 (G feral ¢

(i) SMPS

(i) Motherboard

3 (Sem-3/CBCS) CSC/TCA/TIT (HG/RQ/G 31 ~ 1000



